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Set Id(name="1id");

Element id1({set=Id);

Element id2(set=Id):

Parameter s(name="#881", index=(1id1));
Parameter d(name="EEZ®M#L", index=(id1));
Parameter mu = 8.25;//H4—E 2=

Parameter e(name="_XEBEIANH", index=(1d1));
Parameter n(name="B#EE", index=(id1,1d2),type=binary);

(= B = B . B

o I ]
Pd = = WO

Variable o(name="AH", index=(1d1,1d2)};

—_—
=

Expression x(name="#7L L\EBEL", index=(1d1));
x[1d1]=s[1d1]-e[id1]+sum{n[id2, id1]*a[1d2, id1], 1d2);
Expression nowro(name="ERDOHIEZE", index=(id1));
nowro[1d1]=(s[id1]*1808/24)*mu/(d[id1]*8.3);
Expression ro(name="®IAZE", index=(id1));
ro[id1]=(x[id1]*1068/24)*mu/(d[id1]*0.3);

Pod  Ped s
= = WO 03 - o uWn

Objective w(name="43E1", type=minimize);
v = sum(ro[id1],1d1);

.
Pt Ped Pl
£l kD

/RIS
o[id1,1d2] »= @;
sum(n[id1,1d2]*a[id1,1d2],1d2) == e[id1];

.
Pud Ped Pd Bl
== S = S |

solve();
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